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1 EESINIEES LT E 1 17.400 18.150| 35.550
2 HIR B WE 1 16.600 18.450| 35.050
3 A 2,7 N =1 2 15.500 14.750( 30.250
4 iAESESE = 1 14.950 14.300 29.250
5 T rERG sk =R 2 14.650 14.050( 28.700
6 R BR WS 2 14.550 13.000 27.550
7 T rERG F'ER X 2 12.200 11.800( 24.000
8 LSO ERR=R 2 13.050 9.750( 22.800
9 A AHE FRE 2 11.550 10.800f 22.350
10 =5 AT HBE 2 12.650 8.950( 21.600
11 INCEeeea os LB HIim A 2 8.000 7.850] 15.850
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1 INEEegsals E4RKBEE 1 20.000 18.250| 38.250
2 INEEeg=alss gBla  BAIM 1 16.550 17.800| 34.350
3 M -g=als BN XS 1 16.250 16.600| 32.850
4 [ERYATEL=E! FE Bk 1 18.000 14.600| 32.600
5 05 L £#HE Il Fik 2 12.650 16.300| 28.950
6 s 2 FE I U5 2 14.450 14.150| 28.600
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8 05 L £i5A LB BT 1 13.250 13.200| 26.450
9 05 L £#HE hA b 2 13.100 12.450| 25.550
10 INZE=1S $HE = 2 11.600 12.550| 24.150
11 | vALEHmal Bl Bx 2 13.100 10.800| 23.900
12 INZA=1ES A o 1 11.400 10.800{ 22.200
13 INC ksl Ais % 1 11.200 10.950| 22.150
14 INC ksl /NS 1 9.400 11.750| 21.150
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16 IN=Y-g=al 5 A EH 1 10.150 9.650( 19.800
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19 IN=Yog=al 5 TEr HiE 1 9.500 7.950| 17.450
20 IN=Yog=al 5 L EFH 48 A 1 6.800 8.400| 15.200
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